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1. It is known that the integer part of v/23-1 is a and the decimal part is b, then the value of 4a+3b
is  .(A)2v23 (B) 3v23 (C) 423 (D) 523
<jzi7>
frgam\ a=\23-1=4-1=3
#3n A h=\23-1-3=/23-4
: .4a+3b=4><3+(\/_ “4)x3==323 » ¥ B o

I

2. 4ol > BB AL 5P 5 A(2,-7)~ B(6,-1)~ C(c, 0) ~ D(0,d) » Bz i3

ABCD * £ %] & % o (A)42+2V13  (B) 5v2+6V13 o T——p3

(C)IWI3VI3  (D)SVZ+2VT3 D
<}§';’+fr>
Hypho KA DR A2, -7) 5 #x o £ B LR B, 1) A
y=ax+b
-7=-2a+b
1=6a+b

8=8a > a=1 > b=5y=x-5(% C~DH &I AB'thE > 42+ » TPy BLX &)

% £=AB+ A'B'= \/(6-2)2+(-1+7)2+ \/(-2-6)2+(-7-1)2=\/ 16+36+/64+64=2113+8v2 » & D -

A

3. 4o > B P 5 % #AABC * — 8+ © PA=6 - PB=9 » R|PCid~ g 5 |

> (A)12 (B)13 (C)14 (D)15
<}?;’+fr>
#-/\PAB % B gL Pk -5 60 B > §|/A\CP'B » & PP’
wBP=BP’ = /\PBA=/\P'BC(SAS) B ¢
P'C=PA=6
/PBP'=60° > ."./\PBP'% % 8= &7
PP'=PB=9

S.PPHP'C=6+9=15 % P~ P ~Cx ®PFPCE~ > b~ E=15> % D
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4.9 v S FE ST AN e EF AR -] T APELT Z
EEEE?(A)S516 (B)498 (C)510 (D)504

<ﬁ;’+fr>

DRVFIR-T REY = AL Py T R

=6!-(5!+5!1-41)=720-(120+120-24)=504 > £ D -

5. %a,b,cE3I A ApEchP o ® a+%=b+%=c+2’ A abe=
(C) +4V/3 (D) +5V3

<)32Hfr>
a+——b+ -) a- b—%—%—y;_jc ) bc=3g:f)
b 12 g0 _3(c @),y dab)

3 a), 3(b- c) 3(a b)

21 a’bc —=27 » Rl abc=+3/3:% B -

b-c a-b

6. In the right triangle (2 % = % A%) on the right, £ ACB=90",
point M is the circumcenter(*} =), extend BC to D, CD= %E If
/B=48",then ~/Dis (AM8° (B)36° (C)30° (D)24°

<fE47>

M E_NABC b > ® 2 ACB=90°

R AM=BM=CM=CD

/BCM=_,/B=48"* ~ CMD=_.CDM

‘. ZBCM=48"=2/CDM » - CDM=24" > £ D -

7. 4o~ B >A~B~C~D 3O} wg> ¢ wdB=BC > £ CAB=32°

P ABC = o (A)126° (B)128° (C)116° (D)118°
<)§'7¢7"}’?>
""AB=BC
./ CAB=/ACB =32° — /CBA=180°-32°-32°=116°
F w25 ABCD 4 FIp #w 825 » £ CDA=180°-116°=64°
ABC =2 /CDA=128° i B -

. e F‘L(S"‘\/_)smm B S B ERE S ntl 22F > Bl n=

(A)939 (B)940 (C)941 (D)942
<fZ47>
(5+23)3=52+75+/23+15%x23+23/23=470+98+/23
(5-v23)3=53-75v/23+15x23-23+/23=470-98v23
. . — — 2
5V23=V25V 3=
..0<5-4/23<10<(5-1/23)3<1
(5+v23)3+(5-v/23)3=940
L (5+v23)3=940-(5-v/23) » n=939 5 ¥ A o
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1. 4ot B > I %2 AABC ip s > % LABC=42° > LACD=100° > R
~/ BIC= .
<frie>
~ ACB=180°-100°=80°
Al /£ A=180°-80°-42°=58°
4BJC=90°+§><58°=119°

2. /2324232 %04 +24%= :
<fE47>

L a=23 > Rs;i= \/a2+a2><(a+1)2+(a+1)2= \/ [a(a+ )] +a*+a?+2a+1

= J [a(a+1)]+2a*+2a+1= J [a(a+1)]+2a(a+1)+17= \/ [a(a+1)+1P=a(a+1)+1

a=23 » #7 $£=23x24+1=553

3.3 5T A% 1 (O-50) 0 AR 5 (042) 1 1 (-5x6) 0 R 3 (Bt o BT S T2 flx)
&% v (x2-4x+3) o AN 2 o
<fE47>
S0)=(x>-5x+4) 01 () H(x+2)=(x-1)(x-4) 01 (x)+(x+2)-----D
(x2-5x+6) Oa2(x)+(3x+4)=(x-2)(x-3) O2(x)+(3x+4)----- ®
(x*-4x+3) O3(x)Hax+b)=(x-1)(x-3) Q3 (x)+(ax+b)-----@
L x=1 >0 ~0 > p g+th=3---—--®@
£ x=3 & >»0@ @ f| 3ath=13-—---0

d @OE =5 b=-2 » A N=5x-2 p 4
G
4, ot B 0 R LA+ LB+ C+sLD+ L E+ /F+/G+ ./ H= o
<f# 45> C i
_ D
@BEF— £ 1+ /2=/G+/H g A
A+ /B+/C+/DY /E+/F+/,G+/H
=/A+/B+/C+/D+/E+/F+/1+./2 c
== @35 & fr=(6-2)x180"=720" D
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5. K FE Ix3x5xTx-x2021x2023x2025% & > HcF H_

<jrie>
£ a=1x3x5x+++.x2021x2023%2025=25x 5 & % # x
4 B x4 A 1 B 32x=4k+1 & 4k+3
(Dx=4k+1=a=25%(4k+1)=100k+25
@x=4k+3=>a=25%(4k+3)=100k+75

(1x3x5x7)+4 4 1 [T (1x3x1x3)+4 4 1]
(Ox11x13x15)+4 4~ 1 [ (1x3x1x3)+4 4 1]
(17x19%x21x23)+4 4 1 [ (1x3x1x3)+4 4 1]

(2017x2019%x2021x2023)+4 4 1 [r(1x3x1x3)+4 4~ 1]
2025+4 &1

C.a=1x3x5%++.x2021x2023%x2025+4 A 1x1x1x---.xIx1=1
a=100k+25 » k& = HH_25

6. 37— B p Riic> #v ﬁﬂ&iéﬁvﬁaw% 8185 - BATH > B REE ITHRSDST R R
mACERIEE g pARES °

<fE47>

B hex10m+y

T =y

xx10"+y=5Ty=>» xx10"=56y » xx(2x5)"=2xTy

Fa Bt | Pn=3 » xx(2x5)*=2xTy » 125x=Ty

Cox=T ~ y=125 5 Pl R #=7125

7 EREFELRFFF oA LIS I HSEIL T IHE LA | 1HEO
Ao BIESO Y 0 S Es (1) FTR A ET THE 164 0 ¥ T i | i
8RR 0 RIS Es (1) FTR AL Ho

<fE47>

Bk f H=x > T H=ax > %3=T-ax-x

3x(7-ax-x)+ Ixax+0x=16

21-3ax-3x+ax=16

3x+2ax=5

x(3+2a)=5 > ¥ a At i

Al a=1> x=1> P2 3=T7-1-1=5

8. % p~q B > BxlHpxtq=0:h—- 11 E/4-2V/3 > P pg=
<fZ47>
x:\/4-2\/§:\/ (-\/5)2-2\/§+12=\/(\/§-1)2:\/§-1 » ¥ - 2% 4341

x=/3-1 > x+1=+/3 » (x+1)’>=3 > xX>+2x+1=3 » x*+2x-2=0
p=2q=-2 Bl pg=2x(-2)=-4
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1. “BHAABC ® » %3, ODE 10O ~D & 8334 BCY » E 2 AB} » ¥ AC*»ED ** F 2 »
3 AB=AC » BC=6 » LEOB=90" > OF=3 > R|BO# & & 5 i ?

<f#{7>

“AC*»ED *> F 8> OF L AC

% A\BOE 2 A\CFO E

® £ BOE= - CFO=90"

@OE=OF F

®,/B=,C

BE=CO > % BO=x

>0C=6-x=BE + - /\BOE *

(6-x)*=x*+32 » 36-12x+x*=x*+9

12x=27 » x=

A

2. It is known that a, b, ¢ are all positive integers, and the parabola y=ax*+bx+c has two different
intersection points 4 and B with the x-axis. If the distance from 4, B to the origin is less than 2,
find the value of a+b+c minimum value.

<f%47> ):
£ y=fx)=ax*+bx+c (-2, f-2))

X1+XZ:-Q<O
B A(xl, O) B(XZ, O) (X1<X2) > B Ca = x:<0 > x,<0

XIXZ:;>O

2 A=b*-dac>0db>2ac........ ®
" OA4=| x1|<2 » OB=| x2|<02 ’ ) x\ﬁcz 0, "t
w-2< x1<0 » -2< x2<0-);= X1 x0<4 > c<da........ @ /

Fla>0> B v et fF&x=2> y=4a-2b+tc>0 > ¥ 2b<4atc
@ 2b, 4atc 355 I Bk 0 ik date=2b+1 0 d OF datc>dactl ¥ (2Va+/c)>1
d @F2VaVe>1 0 F2Va>Vct122 > Fa>1 > #1rd a>2

x p>2Jac>2\2x1 > b>5

B q=5 b=5> c=1» y=5x’+5x+1 % XAL P £ 2 » & atbtc e | & 5 11
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